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TALT Multiply - SPICY
) A hox contains trays of melons. There are |5 melons in .a

tray. There .are |l troys in a box. How many melons are
there?

2) Molly .and Jess .are working on the same calculation. They

get different answers.
Who is correct?

Molly Jess
3 1 2 3 1 2
X 1 4 X 1 4
1 2 4 8 1 2 4 8
3 1 2 31 2 0
1 5 5 0 4 3 6 8

3 ) A rectangular swimming pool is 25 metres long and 10 metres wide.

lenath
25m

David swims 5 lengths.
Rosie swims 12 widths.

How much further does David swim than Rosie?

4)Ll/s,aj/s,p,amtin,g,0m5,td.e,oaf,thzf,abbithu,tch. One tin
convers an area of 500cm?. The hutch is 30cm x l6cm. He

thinks he needs to buy 2 tins.

Is he correct? Expiajn MOALr onswer.




